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1. Jan buys chicken and chips.

The cost of the chicken and chips is £6.85

Jan pays with a £10 note.

Work out how much change he gets.

£ . . . . . . . . . . . . .

2. Hailey buys a chicken tikka masala.

The cost of the chicken tikka masala is £7.85

Hailey pays with a £20 note.

Work out how much change she gets.

£ . . . . . . . . . . . . .

3. Anton buys a sharing platter.

The cost of the sharing platter is £13.45

Anton pays with two £10 notes.

Work out how much change he gets.

£ . . . . . . . . . . . . .
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4. Kelsey buys a cup of tea.

The cost of the tea is £1.15

Kelsey pays with a £5 note.

Work out how much change she gets.

£ . . . . . . . . . . . . .

5. Jazmin buys a return ticket to Leeds.

The cost of the ticket is £62.40

Jazmin pays with four £20 notes.

Work out how much change she gets.

£ . . . . . . . . . . . . .

6. Ishaan buys a theatre ticket.

The cost of the theatre ticket £33.70

Ishaan pays with a £50 note.

Work out how much change he gets.
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